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SSC CHSL Tier-I :-Pattern

Sections/Subjects Number of Questions Maximum Marks Time Duration

each section

General Awareness 25 50 60 minutes
Reasoning/General 25 50

Intelligence

English Language (Basic 25 50

Knowledge)

Quantitative Aptitude 25 50

(Basic Arithmetic Skill)

Total 100 200



SSC CHSL 2022-23

'/ at 08:30 PM |/

SSC CHSL Tier 2 Plaper II Exam Pattern

Sections Module Subject No. of Questions Marks Weightage Duration
Mathematical
Module-I 30 90 25%
Abilities
Section I 1 hour
Reasoning and
Module-II . 30 90 25%
General Intelligence
Session —I
English Language
(2 hours & 15 Module-T 3 i 40 120 33.33%
Min) Section 11 Angle pIprenension 1 hour
Module-II General Awareness 20 60 16.66 %
. Computer o .
Section II1 Module-I 15 45 Qualifying 15 minutes
Knowledge Test
) Qualifying 15 minutes
Skill Test For DEOs
Session —II | Section III Module-II
. Qualifying 10 minutes
Typing Test For LDC/JSA
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Three smaller cubes with sides of 3, 4 and 5 cm are melted together to form a

large cube. What 1s the ratio of the smaller cubes' total surface area to the larger

cube's total surface area?

3, 4 3R 5 GHT oAl YSTIAT AT o1 BIE BT 3hT Teh A1 TUEATRL Teh SIST & ST
STTT 21 BIE T 9 el TSI &t 1 9IS H o el YBII &l § STUTd T 22

a) 16 : 21
S b)5:4
( &= \
o=/ /~
\ Y c)25: 18

d)3:5



The marked price of an article 1s 30% more than the cost price. A discount of
15% is offered on the marked price. By what percentage 1s the final price more
than the cost price?

Ueh S ohT fehd Hod IHeh 569 Hed © 30% 3ATE1eh Bl Jfohd Hed W 15% 3t D &
STt 21 SFfcH qot 35 e | fohd wferd 31feres 22

P SV \F
2 e T S Eg )
207 @ a) 10.5%

e c) 19.5%
=\\o 7 d) 8.5%
\Q'E‘/.’l\
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The mean proportional between a number and 20 1s 50. What 1s that number?

Teh €T 3R 20 T TR 50 7| I8 HEAT 7 872

A o<
M = \/QE;
C;l G, 525
o5} ()
S b3
[a=1e3) ) 100

d) 10v/10
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The average run of 8 players 1s 6.5.The average run increases by 1 when 2 new

players are included. What is the average run of new players?

8 et st 3ad W 6.5 Bl 2 AT Rl sl IMHT i 9 39 W 1 ¢ Sl
2| U RaeTtfe st 3fted o =7 27
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Find the area of a triangle with sides 3 cm, 4 cm, and 5 cm.
3 cm, 4 cm A5 cm YS! AT VST 3T &S 1A 3h1 (51|

| A
P~ T s
— 6% > a) 8.5 cm2
SN 7 b) 7 cm2
<; EIEL ,\}/
s’ c) 6 cm2

d) 10 cm2
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If cosec? O + cot? @ = 5/3, then what is the value of cot 20?

Ife cosec? B + cot? © = 5/3, Al cot 20 =T A AT BN?

No= = e\SV\Dva
|t oo +Ceh T ¥S D e
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What will be the average of the odd numbers from 21 to 817?
21 | 81 e ehl T HEATSTT T ST T BT

g2n s 8% - — - - 2

Py

| o
ez =8|

2\

o o+ B

1)
\ L/ |

/
F=u
= e

c) 79

d) 29



If two successive discounts of 10% and 5%, are given, then what will

be the net discount percentage?

A 10% 3T 5% hT <1 SHANTA D ol SATd1 8, 1 el BE T 1 SR

_\o—5S % \C£7LS —= —ls+¥S)
NP e 2) 12.5%

b) 15.5%

c) 14.5%

d) 16.5%

/—\\
n
‘\\ \‘: :l |
4 — //\ y.
\\/\/\‘
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Find the ratio in which pulses at 80 per kg can be mixed with pulses at

%95 per kg to get a mixture worth 85 per kg.

S FTUTA 1A ShITSIC ST&H 80 T4 i Tehedl shl aTeTl ol 295 Jid Toheal ohi
1Al o 9T Tt 85 9 Ui fehedt sht freror ume fomarm ST HehT 2

a)2:5

by 1:2

c)2:1

d)3:2
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Two triangles A ABC and A DEF are similar. If AB = 6 cm, BC = 8 cm
and DE = 9 cm, find EF.

a1 st AABC 31 ADEF #H&q 8| 9fd AB = 6 @i, BC = 8 Hl 3T DE

— 9 Tt 2, Y EF I1d FISQ <
—HE EF
_ﬁ”ﬁ@i B o < = £ b9em
ﬂ% CF ( Eg \}/
\E\D:\i R : c) 10 cm



If a man were to sell his home theatre system for ¥14,400, he would lose 25%. But 1f he
wants to gain 20%, the item should be sold for:

afe weh Stk 319 B forer fomem =l £14,400 B S=ram ®, 1 SH 25% hi 811 2l 21 A
aﬁa%’wmm AT TSN @, T TE] 3 Tohel H =T STHT <AMRT?

b) £23,000
c) 22,960
d) 223,300
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Which of the following numbers 1s NOT divisible by 1507
et o & @i €t g 15p/ﬁﬁ‘mve4 T2 87

e — = §/

a)@O@I? \/
b)@@@oc -

C) %63 ob\
d)@Boo‘

/—\
[
. i //{\ &
SE=27




The product of three consecutive odd numbers 1s 693. What is the

smallest of the three numbers?

oI SHHTITA forew HEa Tl T U 693 21 i Hearell § Tedl Siel He

hie H 27
)9
TR o

d) 7









